1. Circle true (T) or false (F).

a) The battle of Bannockburn was in the 14th Century.

b) The battle took place in winter.

c) At the time of the battle English were in Stirling Castle.

d) Many Scots at Bannockburn were killed by arrows.

g) The English bowmen were the weakest part of the English army.
f) The English horsemen chased the Scots horsemen away.

g) It was very difficult for the English to attack the Scots army.

h) The English were frightened when ancther Scottish army appeared.

i) The English soldiers won the battle.
j) The English were also fighting with the French.
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2. Answer the guestions.

a) Who was Robert the Bruce? What was the most important thing he did during his rule?



